
RECITATION 3 

JORAl 
HAZARD 

RECITATION 3  

1



RECITATION 3 

JORAl 
HAZARD 

MORAL HAZARD 

Two agents - principal and agent 
P makes a take-it-or-leave-it ofer to A, who has reservation 
utility U . 

If contract is accepted, A takes action a ∈ A which 
(stochastically) afects outcome x ∈ [x, x̄]. 

Assume x is verifable so we can write wages/payments w(x) 
and go to court with it. 

P's payofs 
V " V ""V (x − w(x)), > 0, ≤ 0. 

A's payofs 
" ""U(w(x), a) = u(w(x)) − ψ(a), u > 0, u ≤ 0. 

Let F (x, a) be CDF over x for a given efort a. Assume 
Fa(x, a) < 0 at all x. What does this mean? 
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Let efort be observable and verifable. 
ˆ x̄

max V (x − w(x))f(x, a)dx, 
w(·),a x 

subject to ˆ x̄
u(w(x))f(x, a)dx − ψ(a) ≥ U. 

x 

The Lagrangian is 
ˆ x̄

L = V (x − w(x)) + λu(w(x))f(x, a)dx 
x 

−λ (U + ψ(a)) . 
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FOCs:  
((I)] For every x, foc for w(x):  

V " (x − w(x))
0 = −V " (x − w(x)) + λu " (w(x)) ⇐⇒ λ = . 

u " (w(x)) 

((2)] FOC for efort: 
ˆ x̄

V (x − w(x)) + λu(w(x))fa(x, a)dx = λψ " (a). 
x 

Intuition for (I)?  
Intuition for (2)?  
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Now action is hidden 
ˆ x̄

max V (x − w(x))f(x, a)dx, 
w(·),a x 

subject to ˆ x̄
u(w(x))f(x, a)dx − ψ(a) ≥ U. 

x 
ˆ x̄

a ∈ argmax u(w(x))f(x, a " )dx − ψ(a " ). 
x 

Interpret! 

5



MIT OpenCourseWare
http://ocw.mit.edu

14.75 Political Economy and Economic Development
Fall 2012

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.

http://ocw.mit.edu
http://ocw.mit.edu/terms.



